Shatin s & Prbubily
w‘/\‘i‘% S error? |
Tise ko + Rouldom K Systematic.

-RQM‘QGM evrey 1S +le Sm#er V0L
j‘ E'(: ‘CFOM u*efea_{@ M'ea_sc(reu_—tgw~{-5

:S stematic ervor s < fev-w:[-{‘ e
Y Gy oy~ &
.L\q,o/oens 4o éﬁe_ SGime gejrea EQCA%MQ__,

youw Imeale G_M'GG.SL{MMEM‘C/',

.Mulf‘tf?[& Me&Squwéu‘(S‘ w;//qUQVQ e

out (r\eoQuCQ> Wam@m eV oy, L)u (
et affect SyS tepatic erreys

f'p you Qo IMQV)y meesurﬁwewﬁj ﬂe_
erver o fhe avg. will be compldel,
.QOMLMCL-‘:E Iay as/vsf—_emq tée erver, bt

Ehs s vevy Reflicult 4 es%bwzkf’!

Be Wary of error ostiwa tes — alueys
i/ook £ See fLow rL‘ZL/E‘ C’a/ca/el/f’dg




| 7
As an eng meer &Q&a[/&Q @
Kﬂﬁerfl,—cniwj o s%aréc“sl{ﬁd anQ_
ey (3 g,m‘v(:?ce, H ou,wrws'ﬁ
MASter -Hm s {/wat'erfa,l., -

=
Ok now for seme we,{ew@w%w/v
s{:g.{—(s dres:

-l/‘/Ae l{«ws{' }mjoof‘(:aﬂt froLqu/fij/
NistrbuTion /s the Caussian or
Nevimal Restr hdzsr : 2

l (x/2)
[a(x):\f;‘r_v_ (; 20T

P (x) = ffobqlaf/;'[y Q\fews;{y
= probability of weas betng i)
‘znfer\/&'_ EK) K+QX_7
S
We can tQQ‘pmg the Cum u(a{-(‘ue
Prc‘oqtojl[‘cy ‘




|
!
| P(@ = C; VB’

-0

; T(M‘_S LS {LE/OPOIC;L;/r-‘Z\/ ’éAdé t. Mmeas.

s |egs thay some Valae X

i//_—’[‘e' //)OY‘MQ' E_QE"S ‘ér:lwf{‘?aw (s CLqrcc E’If;&@
‘b/ 2 2acmft{‘fl‘-’5'-

M Z Mean 6\0 é)f"S‘kh)ouL'Hmfz
: g = Fofl&la‘.{ir&n S‘Z‘Qngq_rﬁ Q@vfa%ﬁa\q

: About é?% ot observations /e w!'dbv
N of o, 5% withon 207, ank
79% oFho 20

:rn wwkwg W/ Sﬁffsf?ﬁ) weo@@e
A @)ﬁlee_Cta{:fM_\_/_gQﬁ_

f E(X> = D\.Jlrtft{" yop{_ Q)C/De’zf-ébjg‘}:{"“;
| YouL oD o meas. Many times
an

L GV erage (£ toge Her!




3 D
:MQ{LEMQJCZ”@O[{ZE ‘
EW) = gx P xy Bx

oo ‘\PVDIO- QQMSHy
Mens. ?HawHéy

gw _ Ix=pMF

X 2
e o &

-0
%0 e % ,
= X - 72 +/«J.§P(x) i
gﬁ?ro—* : Rx ),
=
L‘ﬁ'{: ;— X”/’L . .
oo .-’_'%:2 Q
Ebo_ g N =7 & OQ% + A P OO&X
- 40
MV\IE Q\}'GV) \.:;A-/

The integral of an o8l function over
an even &owctﬁfz ;S Zero , se

'CN"S‘L’ (}“k’e\dirctl VQMLSLQS!



Thus Ewx) =p

What abeut tLe, meen of N
O\O%QV‘VQ“HWS '

| :___LXZ
' N =\
TEWX)= E (N gxc>

Lx |

f ”""ZE(XJ NZ"‘L /’(o

TL[S Mtty L\R_Vﬂ Le’e‘/} SQIP"‘E’VU’—@Mt—
lou.":' Wwe can use fLe Seame. Q/ﬂ/droc;_czt

Lo the vavience :

\ULQ'L_ (S E((x-ﬂ)z) ?
E (tvmp)?) = ( () psrd

% "9‘9 (x-

"=§ (x-p)E- ’ zo‘ZQX




s
-

:fwtfgrotizt Io)npa.rits ;a 00 _}f

O\'z- 2 "..:?-— -2 [ @V‘z
P 27T Z —l—- 7 \Erq—e %

Ve T -0 ~00
Vanizhes ot oo =

,:‘4 E ((X"/’(-)Z) = rl

w[/\a'l: c..loouflf fz\e Vaviapce cr[‘ H»e_

M e an o-p AN wea_suremen{s [4

....-—_""——_

E((x-p)) 2 °



_-*—--;,'—E ;/"Z(x /4))

D

4

: E(;’;’ 2: e¢s -/u)(x /4>>

LI\)

=i L m

L

E Z: _Elk f*)(xJ /c&))

l"dL

||

:Fi*rrt Uf)tcéal'fw F'sd‘usz‘ g~

SQCG‘HQ “EQv-M (S ‘—aero ProULQ'eQ

X &X are \nanﬂemZenLL

E (Q( -4) (x ’#)5 yj‘( /‘ﬂ)
| ~00 200

f

e X)) PO )Qxé}c-

0o %o
Eg(x /A)P(X)QXS -/l—Q)F()(> ""O c;f'd

~00 | — (0



7 s &
| sz; __0__...
X N

That 3 wky o —E}f’a M s S uremy pis
_recQuCC -H\.e, V-an oLov 'Q.V“V‘m/!

-Ok) [/wug Qo Loe QS":‘M«”L*L JA Q_MQG—?

Ifm emc‘:rai we Lave.. Ca Scuﬂﬁle_. o‘p AN
eb%ﬁervatfms Lrawn (Lw«r an unberl

lc‘)
po Pl o{‘f;cssz le_ OAserv@gmi

s

\JOQ.&Q‘CNNG, ’LL\O_ S_Etmlﬂlu_. Wt ea v
— l
Xz X

(:f

e have erécuo)/ S[www 'H\qf
F(X)=mM

Thet s, X isan wé/‘QSéoQ
.Ekwﬂﬁ.& sf A




Now €or+the Variance :

\JOC_ QQ‘F\A& éﬁe Sa_w;f}: Vﬁftancﬂ

,m-f, (G2

Soes ___.‘.L.?J’ v:,x'
= N Y =
ot (X=X )

1=

f’e ‘!;L\a{' ‘éo Ca/cu’a‘é& %1\.:5 we Q,‘M)f
LAUt to stove oll Lhe x; s’

U\Je quLS‘{" heeQ ‘réo l('ee/’ /\/ ZXI
A-hQ Z_x ﬂ> ’{A 'Z’> Low a. c.q/culq‘idv“

!"‘J ‘%LLL 071/& wceu) MEmory(esS Cgwm chc,
S e



OKJ l/\buo (S S; Y*E{a.‘ILEQ -éo Vi@;—?
we neell Hle fillseomyg lentidies ¢

" M

N .y Nivs
e
= ¢=I
N -
(thic &5 because _;Q(Z-)O =L L’)’
the Be L Hiom of ;<->
'A/gc’) W e AQQ:
B 2\ 2
ACTPEL
o £ (X, S 2 E



5-._1—-—' | rA N A
N-| z,\/a‘ ’N’"rg:’"— [

A

So S s ULnloEa.%ecQ estonde
oG |

TLQ, /\/""/ Par‘i’ Coy1es G,Laau_’ll' becqu:{e_
we e Cc\,’cula{'baj -Haue Meay {rom
tloe Same Sa /o}g ‘é‘Lai”we &ré__

Cel cux Q,Jc-bnj e Vavianct

!
We, ]nowﬁ TQGQ,LLCEQ‘(:LUQ ) um )oﬁermc
Qegrees of Lreebos, by e

:Toropqg wlizo of Errers
:USUU-‘LHY U\)LLE/’). Qohqﬁ Q.x]DWerl(a/ Ca/cub{??mf

.)/DI«L Wusf caw:éhve_. S’evech P OG SUY EME 4T

to ge the ﬂyal_ys_esuﬂ'.

jg&cL hw()ivicgu.d MPRES, Aas Sope_
o wssoctabed withif How Qo
These comlome. ?



Let )((-' ’Z.i Im.‘; V“amQM UQWZ‘QU@S

W/ Mean X,)'/— onkd) <t. Hev.

Ey &s),

IL»et i
2,5 C X +Cy ¥

where ¢ & ¢ are csts,

N
B = — l - —_ —
» %=7\7‘LZL = X +GY

L =21

What obout the variance Z

N

N

3]
."\’\z_
o

1

o (



|
N

Sl o _

i >

+ 20,0, (’(.',)’,:’27))
H_ __c':. 2 2 :z. ze,Cz.f : ____)
= S GaSy + S LOGRTR

Lets ook oot 4lis |agt term, We
KRefme N

/
SXy - N-)

. (X[Y,,‘ _;('9') |

L=

N
_= =T , =
_N...) ;§. (XL X><>/L y>

:T/u\s LS %Lue. C:_OVaV‘f'QMrE?_ 0 F x

tan&.y. £ fLe/ ave maoe,awaﬁeuﬁ
i‘ﬁlue_n ’, -
- £(s,) =0

So for 0.8 tion

2

% z _2 B L
S2 _cl 5 t G S + Z-_C'icz_-__s_xy._




